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Question: 2

(.{) Prr,rve that regression co-e.fficients are independent cf strift of origin

{B) Two regre.ssion equations of variables s arid g are;

i ;  :  19 .13 -L ) . 87y

A  :  11 ' 64 *0 ' 50 r

Obtain (i) mean of ri (ii) mean of 91 (iii) Correlation co-efficient.
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Question: 1

(A) Calculate correlation co.efficient and probable error from following data.

(B) Cafculate rank correlation co'eflicient from following data'

OR

Question: L

(A) Derive Spearman's rank correlation coefficient for bivariate distribution.

(B) Prove that correlation co-efficient is independent of shift of origin & change of scale.
i

Question: 2

(A) Obtain iwo regression lines from following data.

(B) Define regression lines and derive the equatiotl 2: -n: b"a(A *T).
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Question: 3 Attempt any two (each carry 6 marks)

(A) 10 unbiased coins are tossed simultaneously. Find the probabiliiy of getting
(i) 5 tails (ii) at least z rails (iii) one tail (iv) not more than 4 tails

(B) 
lf X - N(p: 2,o2 = 4) then evaluate following.
( i )  P(cS2)  ( i i l  p( i  <s<3)  ( i i i )  p(_t .2eS;s i .2s)  : :  "

(C) If the probability of bad reaction from a certain injeCtion is 0.001 aetermine tt.'ianirrru
that out of 2000 individuals more than 2 will get bad reaction.'

. :

Question: 4

(A) Define various types of classification of data.

(B) calculate mean by using step deviation method for following data.

class 0-5 5-10 i0-15 15-20 20-25 25-30 30-35
frequency 14 29 69 138 53 37 11

(C) Obtain mode for the given data.

OR

Question: 4

(A) Obtain Median and euartijes for the given clata.

(E) calculate Geometric me',n and Harmonic mean for foilowing data.

class 0-5 5-10 10-15 15-20 20-25
frequency 10 6 8 7 20

(C) Define Partition values.

Question: 5

(A) obtain semi-inter rluartile range ancl its co-efficient for fbllowine data.

(B) trinrl mea' de'ialion abi,Lrt meiiian f'r foiloq,ing data

(c) Define staridard deviatioir and prove thai it is changecl by change of scare

OR
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Marks Below 10 Below 20 Below 30 Below 40 Below 50 I Below 60 Below 70
students 13 33 58 72 84 lez 11

frequency

l'tro. of students

L. l 58 59 6r.) o l 62 63 65 66
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c*effi.cieat of skewness from given data.

,,37, !0, 42, 42, !?, 43,52, 5.7, . .,.,,,,

i' elass '' ,'t 0-10 10-20 2G30 3&40 4&50 5&60 6U7A 7&80
frequehcyr . : :o 10 20 40 30 2B 10 4

, j  i .  I  i ,

Question: 6 Att-empt arry two (each ca.rry 6 marks)

{A} (I) The mean w:age of 200 s,orkers x-orking in a factory is Rs" 50. The mean wage of 75

iII) h usual notation rlerive s2 : o2 + I

{ts) Find node rrsing method of grouping then calcuiate mean rleviation about ntode.

(C) Find ln decile and 82"d percentile from given rlata.
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